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L (5x)8xy) - doxy
2 3
2. (-2mn) (12m ) = -24am™n
1. (15xy) (4xy2) = 60 ><2y3
4. (-18xy) (-3xy 2%) = 54 y2><3
5. (6xyz) (-7x 2%) = -42 ><2yz3
6. 0(-11mnt) = 0
2
7. RWAWAAUVBY —(-5x+11)
3
“ 2 2
W . —(5x+11) = —[(=5x0+11]
3 3
2 2
= (=)-5%) |+ (—)11)
3 3
10 22
= —X+—
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10 22
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8. WNARAIYY (-10m” +8 )(5m)
Wi own (om’+8)om) = | (1om’)+8 |(5m)
- [ caom?xsm) |+ [(8X5m)]

= 50m° + 40m

mou -50m° + 40m
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9. aWMARBY (Bm)-7m’ +11m+4 )
W 0 Bm)-7 m>+11m+4) = (3m) [(—7m2)+ 11m+ 4]
= | Gmerm®) |+ [emiaim] +[Gmi@]

21m° +33m° + 12m

MU 3m3 + 33m2 + 12m

10, W mWaRUTD (4 y2 )8 y2 +14y -5)

Wy 90 (4y2)(8y2+14y—5) = (4y2)|:8y2+14y+(—5):|

[(ay® Yay?) T+ [@y? X1ay)] + [(4y2)05)]

= 32y 156y° - 20y

Aoy 32y +56y° - 20y°
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